p of the most energetic y
t temp3

Entries 50000
Mean 8.778
Std Dev 21.94

T e e e R

| Red: Whizard-2.8.2: |
108 by S Black: Whizard-1.95 . A

10?
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Cos0 of the most energetic y

temp?2

: : : : Entries 50000
o g P Meap  -0.0006913
: : ' Std Dev 0.9197

104 ol EEZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZ?ZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZEZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZ?ZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZZ; IO
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1O% b Black: Whizard-1.95 . Ji




Energy of the most energetic y

templ

Entries 50000
Mean 68.41
Std Dev 50.11

0 20 40 60 80 100 120
Photon Energy (GeV)
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10°

10?

Invariant mass of 1 pair before FSR

tempS
O OSSO NN Entries 50000
: : : 5 Mean 148.1
83.27

mass(t*1) (GeV/c?)




Invariant mass of 1 pair after FSR

temp4
[ A Entries 50000
: : : ; Mean 146
10° ::r:r:r:1111i111111111rifirri*rif*rT555555555555555555555555555555555555555555555555555555555555555555555555551 StdDev _ 82.64

mass(t*1) (GeV/c?)
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10°

102

10

Number Of photons

__________________ _.i.........B.I.ac_

temp6

Entries
Mean
Std Dev

50000
2.578
0.7673

Red: Whizard:2.8.2

k: Whizard-1.95 . .

6

number of photons in an event
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Energy sum of final particles

templ4

Entrigs 50000
Mear 250
Std Dev  0.001625

10

10°

102

Red: Whizard-2.8.2 5
SRS SR SR N— Black: Whizard-1.95; ... | S—

| | | | | | | | | | | | | | | | | | | | |
249.988 249.99 249.992 249.994 249.996 249.998 250
Energy Sum (GeV)
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10

10°

10?

10

P, sum of final particles

templl

{1 Black: Whizard-1.95. ...

Entries 50000
Mean 1.362e-06
Std Dev  0.0005689

Red: Whizard-2.8.2

0.005 0.01
P, sum (GeV/c)



P, sum of final particles

templ2

Entries 50000
Mean -5.278e-06
Std Dev 0.000568

T

10

B B X -I-H-I-I-|--

; ERed:V\/éhizard—?2.8.2 :
i1 i E— Black: Whizard-1.95...... {

TR J-I-I-|

10?

TR J-I-I-|- -

10

-0.01 —O 008 -0.006 -0.004 -0.002 0 0.002 0.004 O 006
P, sum (GeV/c)




P, sum of final particles

temp13

Entries 50000

10 Mean 5.232e-07

Std Dev  0.002187

10° m: I'| Black!/Whizard-1.95........

10?

......................................................................

10

0.01
P, sum (GeV/c)
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